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Question 1. The length and breadth of a rectangular piece of land are 500 mand 300 m respectively. Find:
(i) Its area.

(ii) Thecostofthe land, if 1 722 of the land costs Rs. 10,000.

Answer: Given: Length of a rectangular piece of land = 500 m and Breadth of a

rectangular piece of land =300 m

(i) Area of a rectangular piece of land = Length x Breadth
=500x300=1,50,000 712

(ii) Since,thecostofl m?land =Rs. 10,000

Therefore, the cost of 1,50,000 m? land = 10,000 x 1,50,000

=Rs. 1,50,00,00,000

Question 2. Find the area of a square park whose perimeter is 320 m.

Answer: Given: Perimeter of square park = 320 m

—. 4 xside =320

= side= % =80m

Now, Area of square park = side x side
=80x80=6400 1

Thus, the area of Square Park is 6400 m2.

Question 3. Find the breadth of a rectangular plot of land, if its area is 440 m? and the length is 22 m. Also
find its perimeter.

Answer: Area of rectangular park= 440 m?2

— Length x breadth =440 m2




—  22xbreadth=440 _, breadth= % =20m
Now, Perimeter of rectangular park = 2 (length + breadth)
=2 (22 + 20)
=2x42=84m
Thus, the perimeter of rectangular park is 84 m.

Question 4. The perimeter of a rectangular sheet is 100 cm. If the length is 35 cm, find its breadth. Also find the
area.

Answer: Perimeter of the rectangular sheet =100 cm

2 (length + breadth) = 100 cm

—  2(35+breadth)=100 = 35 + breadth= %

=  35+breadth=50 = breadth= 50 —35
= breadth = 15cm
Now, Area of rectangular sheet = length x breadth
=35x15=525 cm>

Thus, breadth and area of rectangular sheet are 15 cm and 525 em? respectively.

Question 5. The area of a square park is the same as of a rectangular park. If the side of the square park is 60 m

and the length of the rectangular park is 90 cm, find the breadth of the rectangular park.

Answer: Given: The side of the square park = 60 m
The length of the rectangular park =90 m

According to thequestion,
Area of square park = Area of rectangular park
—> side x side = length x breadth

= 60x60=90xbreadth

6060

= 90




breadth = 440 _ 40m
22

Thus, the breadth of the rectangular park is 40 m.

Question 6. A wire is inthe shape of a rectangle. Its length is 40 cm and breadth is 22 cm. If the same wire is
rebent in the shape of a square, what will be the measure of each side. Also find which shape encloses more

area?
Answer: According to the question, Perimeter of
square = Perimeter of rectangle

= 4 x side = 2 (length + breadth)

= 4xside=2(40+22) = 4xside=2x62

=31lcm

= side= 2262

Thus, the side of the square is 31 cm.

Now, Areaofrectangle = length xbreadth=40x22 =880 cm? And Areaof

square=side xside=31x31=961 em?

Therefore, on comparing, the area of square is greater than that of rectangle.

Question 7. The perimeter of a rectangle is 130 cm. If the breadth of the rectangle is 30 cm, find its length. Also,
find the area of the rectangle.
=> Answer: Perimeter of rectangle = 130 cm2 (length + breadth) = 130 cm

= 2(length+30)=130 = Iength+3o:%

= length+30=65 = length=65-30=35cm

Now areaofrectangle = lengthx breadth=35x30=1050 cm?

Thus, theareaofrectangle is 1050 cm? .

Question 8. A door of length 2 mand breadth 1 mis fitted in a wall. The length of the wall is
4.5 mand the breadth is 3.6 m. Find the cost of white washing the wall, if the rate of white washing the wall is Rs.

20 permz .




Answer: Area of rectangular door =length x breadth=2mx1m=2 m2
Areaofwall including door = length x breadth=4.5mx3.6 m=16.2 m?

Now, Area of wall excluding door

= Area of wall including door — Area of door
= 16.2-2 = 14.2m?

Since,

The rate of white washing of 1 m2the wall = Rs. 20

Therefore, the rate of white washing of 14.2m? thewall=20x14.2

= Rs. 284

Thus, the cost of white washing the wall excluding the door is Rs. 284.




Question 1. Find the area of each of the following parallelograms:

|J-
<
>

48cm

(d)

Answer: We know that the area of parallelogram = base x height

(a) Here base =7 cm and height =4 cm

Area of parallelogram=7x4=28 cm?

(b) Here base =5 cm and height=3cm

Area of parallelogram=5x3=15 cm?

(c) Here base = 2.5 cm and height = 3.5 cm

Areaof parallelogram =2.5x3.5=8.75 cm?

(d) Here base =5 cm and height = 4.8 cm

Area of parallelogram =5x4.8=24 cm?




(e) Here base = 2 cm and height = 4.4 cm

Area of parallelogram=2x4.4=8.8 cm?

Question 2. Find the area of each of the following triangles:

Answer: We know that the area of triangle = x base x height

(a) Here, base =4 cm and height =3 cm

Area of triangle = X 4x3=6cm?

(b) Here, base =5 cm and h7( &2 cm

. 3 em ’
". Area of triangle = /x5x3 2=8¢c ;"r;' 3.2 ¢m
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Here, base = 3 cm and height :(ﬂ:}'h Area of triangle=x3x3 =6 cm? (b)

(d) Here, base = 3 cm and heig

4 cm




"+ Area of triangle =

Question 3. Find the jmissing

16.38
"8.MNo. Base Height-Ar

20cm 246 ¢

154.5¢

48.72 cm2

16.38cm?

Answer: We know that the area of parallelogram = base x height

(a) Here,base=20cmandarea=246 cm?

Area of parallelogram = base x height
: y 246
= 246 =20x height = height==55 =12.3cm
(b) Here, height=15cm andarea=154.5 cm?
Area of parallelogram = base x height
154.5
— 154.5=basex15 = base="7¢ =10.3cm

2

(c) Here, height=8.4cmandarea=48.72cm*“ Area of

parallelogram = base x height

48.72
— 48.72=base x84 = base T - 5.8cm

(d) Here,base=15.6cmandarea=16.38 cm? Area of

parallelogram = base x height

= 16.38 = 15.6x height = height = —=-




Thus, the missing valuesare:

.Base

Height

Area of theparallelogram

20cm

12.3cm

246 cm?

10.3 cm

15cm

154.5cm?

5.8cm

8.4cm

48.72 cm2

15.6 cm

1.05

16.38cm?

Question 4. Find the missing values:

Base | Height | Area oftriangle

15cm 87 cm2

1256 mm2

170.5cm?

Answer: We know that the area of triangle = X base x height

1
2

In first row, base = 15 cm and area = 87 cm2

1 BT x2
.. 87= 2 x15x height —- height= 15 =11.6cm

Insecond row, height =31.4 mm and area = 1256 mm?

1256 %2

125631 x basex31.4 = base= 314

=80mm

In third row, base = 22 cm and area = 170.5 cm2

170.5x2

..170.5= 7

x 22 X height = height =

Thus, the missing valuesare:




Areaoftriangle

87 cm2

1256 mm?

170.5cm?

Question 5. PQRS is a parallelogram. QM is the height from Q to SR and QN is the height from
QtoPS.If SR=12 cmand QM = 7.6 cm. Find:

(a) the area of the parallelogram PQRS
(b) QN, if PS =8cm

Answer: Given: SR =12 cm, QM= 7.6 cm, PS =8 cm.

(a) Area of parallelogram = base x height =12 x 7.6 =91.2 cm?

(b) Area of parallelogram = base x height

= 912=8xQN=> QN=2 =1ldcm

Question 6. DL and BM are the heights on sides AB and AD respectively of parallelogram ABCD. If

the area of the parallelogram is 1470 cm2, AB =35cmand AD =49 cm, find the length of BM andDL.

P —',v"’ |Q
5 s :

N 7.60mi
b

S i

Answer: Given: Area of parallelogram = 1470 cm? Base

(AB) =35 cm and base (AD) =49 cm

Since Area of parallelogram = base x height

— 1470 = 35 x DL= DL:% = 42 cm

Again, Area of parallelogram = base x height 1470=49xBM

1470

= = 0




=30cm

Thus, the lengths of DL and BM are 42 cm and 30 cm respectively.

Question 7. AABC isrightangled at A. AD is perpendicularto BC. If AB=5cm, BC=13cm and AC
=12 cm, find the area of A ABC. Also, find the length of AD.

A L J
5cm

E §

:
|
)
D 13¢cm

Answer: In right angled triangle BAC, AB =5 cmand AC =12 cm
Area of triangle = % X base x height = X ABXxAC % x5x 12 =30 cm?
Now, in AABC,

Areaoftriangle ABC = % x BC xAD

_ 1 _ 30x2 _ 60
= 30—5 X13XAD:>AD—1—3— 1—5

Question 8. AABC is isosceles with AB = AC = 7.5 cm and BC = 9 cm. The height AD from A to BC, is
6 cm. Find the area of AABC. What will be the height from C to AB i.e., CE?

Answer: In AABC, AD =6 cm and BC =9cm

Area of triangle = % X base x height = % xBCxAD:% X 9x 6 =27 cm?




. . 1 .
Again, Area oftriangle = 5 Xbase x height = % x AB xCE

27 %2

= 7.2 cm

= 27:%x7.5xCE:> CE=

Thus, height from C to AB i.e., CE is 7.2 cm.

Ex. 11.3

Question 1. Find the circumference of the circles with the following radius:
(Take T = %)
(@) 14cm
(b) 28 mm
(c)21cm
Answer: (a) Circumference of the circle =27r=2 X % 4 =88 cm
22

(b) Circumference of thecircle=27r=2 X = X28 =176 mm




(c) Circumference of the circle =27r = 2 X % »X21=132 cm

1547
2Gifestion 2. Find the area of the following circles, given that: (Take T = %)

(a) radius = 14mm
(b) diameter =49m

(c) radius 5cm

Answer: (a) Areaofcircle=7r? = % X 14 x 14 =22x2x 14 =616 mm?2

(b) Diameter =49 m

.. radius = % =245m

.". Area of circle = 7mr2 = % X 24.5 X 24.5 =22x35x24.5=1886.5 m2

- o 22 550
(c) Area of circle= 7772 == X 5 X D= 07‘ cm?

Question 3. Ifthecircumference of acircularsheetis 154 m, finditsradius. Also findthe area of
]

thesheet. T o
L]

Answer: Circumference of the circular sheet =154 m

— 977 =154m= r 22_
21 7
—pr= %  =245m

Now, Area of circular sheet = 7> = 24'5 X %4 x 24.5 =22x3.5x24.5=1886.5m?
m

2

Thus, the radius and area of circular sheet are 24.5 m and 1886.5 m“ respectively.

Question 4. A gardener wants to fence a circular garden of diameter 21 m. Find the length of the rope

he needs to purchase, if he makes 2 rounds of fence. Also, find the costs of the

rope if it cost Rs. 4 per meter. % = (Take

Answer: Diameterofthecirculargarden=21m

22
7




Radiusofthecirculargarden= m

Now, Circumference of circular garden = 27rr = 2 x % X =2X11x3=22x3=66m

The gardener makes 2 rounds of fence
so the total length of the rope of fencing

=2X27Tr=2x66=132m
Since the cost of 1 meter rope = Rs. 4
Therefore, cost of 132 meter rope = 4 x 132 = Rs. 528

L

2Question 5.Fromacircularsheetofradius4 cm,acircleofradius3cmisremoved. Findthe area of

the remaining sheet. (Take m = 3.14)
Answer: Radius of circular sheet (R) =4 cm and radius of removed circle (r) = 3 cm Area of

remaining sheet = Area of circular sheet — Area of removed circle

I =r (R2—7°2)

-7t =) 7(18) =314x7=21.98 cm?

Thus, the area of remaining sheet is 21.98 cm?2,

Question 6. Saima wants to put a lace on the edge of a circular table cover of diameter 1.5 m. Find the
length of the lace required and also find its cost if one meter of the lace costs Rs. 15.

(Take w = 3.14)
Answer: Diameterofthecirculartablecover=1.5m Radius
.. ofthecirculartablecover= . m
Circumference of circular table cover=27mr=2 X 12_5 X 3.14 =4.71m

Therefore the length of required lace is4.71 m.




Now the cost of 1 m lace = Rs. 15
Thenthecostof4.71 mlace=15x4.71=Rs. 70.65

Hence, the cost of 4.71 m lace isRs. 70.65.

1.6
2Question 7.Find the perimeter oftheadjoining figure, whichisasemicircleincludingits diameter.

A

<«— 10cm——>

Answer: Diameter = 10 cm

.. Radius = % =5cm

According to question,

Perimeter of figure = Circumference of semi-circle + diameter

=7r +D= x5+ 10=2 +10

110—-“07”0— 25.71 ¢cm

Thus, the perimeter of the given figure is 25.71 cm.

Question 8. Find the cost of polishing a circular table-top of diameter 1.6 m, if the rate of polishingis

Rs.15/m2. (Take 7 = 3.14)

Answer: Diameterofthecirculartabletop=1.6m

" Radiusofthecirculartabletop=~ == @ 0.8m

Area of circular table top = 72 =3.14x0.8x0.8=2.0096 m2

Now cost of 1 m?2 polishing =Rs. 15




Then cost of 2.0096 m?2 polishing = 15 x 2.0096 = Rs. 30.14 (approx.)

Thus, the cost of polishing a circular table top is Rs. 30.14 (approx.)

22

7(}uestion 9.Shazlitook awire of length 44 cm and bentitinto the shape ofacircle. Find the radius of|

thatcircle. Also find its area. If the same wire is bent into the shape of asquare, whatwillbethe

lengthofeachofitssides? Whichfigureenclosesmorearea, the circleorthe square?
<Take T = %)

Answer: Total length of the wire = 44 cm

The circumference of the circle =27 =44 cm

=% 2 p— g4 = p= BT

7 9222 = fem

. ‘ 22
Now Area of the circle = 772 = = X 7x7 =154cm?
Now the wire is converted into square.

Then the perimeter of square is 44 cm.

— 4xside:44:> side = =11cm

Now area of square = side x side =11 x 11 = 121 cm?

Therefore, on comparing the area of circle is greater than that of square, so the circle enclosed

maore area.

Question 10. From a circular card sheet of radius 14 cm, two circles of radius 3.5 cm and a rectangle

of length 3 cm and breadth 1 cm are removed (as shown in the adjoining figure).

44
Find the area of the remaining sheet. 7 m = |Take




Answer: Radius of circular sheet (R) = 14 cm and Radius of smaller circle (7) =3.5cm Length of
rectangle (1) =3 cm and breadth of rectangle (b) =1cm

According to question,

Area of remaining sheet = Area of circular sheet — (Area of two smaller circles + Area of rectangle)

-mR? — [2 (7r2) + (1 x b)]

=22 514 % 14— [(2><% ><3.5><3.5>— (3 1)]

=22x14 %2 [44 X 0.5 X 3.5 + 3]

=616 —-80

= 536 cm?

Therefore the area of remaining sheet is 536 cm?.

Question11. Acircleofradius2cmiscutoutfromasquare piece ofanaluminiumsheetof side6
cm. Whatistheareaofthe leftover aluminum se®? (Take m = 3.14)

Answer: Radius of circle = 2 cm and side of aluminum square sheet=6 cm

According to question,

Area of aluminum sheet left = Total area of aluminum sheet — Area of circle
. . 9 _ 22 . . 2

=side xside-7Tr< =6x6— = X2x2=36-12.56=23.44cm

Therefore, the area of aluminum sheet left is 23.44 cm2.




Question12. Thecircumferenceofacircleis31.4cm.Find the radius and the area of the circle.
(Take m = 3.14)

Answer: The circumference of the circle=31.4cm

=27r =314 = 2x3.14xr =314

31.4

2x3.14 .1

= r =

Then area of the circle = 772 =3.14 x5 x5

= 78.5 cm?

2

Therefore, the radius and the area of the circle are 5 cm and 78.5 cm* respectively.

Question 13. Acircular flower bedissurrounded by apath4 mwide. Thediameter of the flower bed is 66 m.
What is the area of this path?

(Take m = 3.14)

Answer: Diameter ofthecircular flowerbed=66m

Radiusofcircularflowerbed (r) ~  =33m

Radius of circular flower bed with 4 m wide path (R) =33 +4=37m
According to the question,

Area of path = Area of bigger circle — Area of smaller circle

0w (R2-1?)

- [(37)2 - (33)2]

=3.14[(37+33)(37-33)][." a® b =m(a +b)(a —b)]

=3.14x70x4




= 879.20 m?

Therefore, the area of the path is 879.20 m2.

2

Question 14. Acircular flowergardenhasanareaof314m<. Asprinkleratthe centre ofthe garden

can cover an area that has a radius of 12 m. Will the sprinkler water the entire garden?
(Take m = 3.14)

Answer: Circular area by the sprinkler = 72 =3.14x 12 x 12

=3.14 x 144 = 452.16 m?

Area of the circular flower garden = 314 m?

Since Area of circular flower garden is smaller than area by sprinkler.

Therefore the sprinkler will water the entire garden.

Question 15. Findthecircumference of the innerandthe outer circles, showninthe adjoining

figure. (Take 7 = 3.14)

Answer: Radius of outer circle () =19 m

Circumference of outer circle = 27mr =2x3.14x19=119.32m
Now radius of inner circle =19-10=9m

Circumference of inner circle = 27’ =2x3.14x9=56.52m

Thereforethecircumferencesofinnerandoutercirclesare56.52mand119.32m

respectively.




Question 16. How many times a wheel of radius 28 cm must rotate to go 352 m?

(Take ™= %)

Answer: Letwheel mustberotate 11 times of itscircumference.
Radius of wheel =28 cm and Total distance =352 m =35200cm

*. Distance covered bywheel= 1 x circumference of wheel

= 35200=n X 27r

— 35200=1 X &%x 28

35200 %7

=N = 505708

=1 = 200 revolutions
Thus wheel must rotate 200 times to go 352 m.
Question 17. The minute hand ofacircularclockis 15cmlong. How fardoesthetip of the minute
handmovein1hour? (Take m = 3.14)

Answer: In 1 hour, minute hand completes one round means makes a circle. Radius of
the circle () =15 cm

Circumference of circular clock = 27mr =2 x3.14 x 15=94.2 cm

Therefore, the tip of the minute hand moves 94.2 cm in 1 hour.
Ex.11.4

Question 1. Agarden is 90 m long and 75 m broad. A path 5 m wide is to be built outside and

around it. Find the area of the path. Also find the area of the garden in hectares.

-.ru u ."r'xd'vg_“tp
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Answer: Length of rectangular garden = 90 m and breadth of rectangular garden = 75 m Outer
length of rectangular garden with path=90+5 +5=100 m
Outer breadth of rectangular garden with path=75+5+5=85m

Outer area of rectangular garden with path = length x breadth = 100 x 85 = 8,500 m?2 Inner

area of garden without path = length x breadth =90 x 75 = 6,750 m?2
Now Area of path = Area of garden with path — Area of garden without path

= 8500 — 6,750 = 1,750 m?

. 72 Bl W
Since, 1 =710000 hectares

6750
Therefore, 6,750 m2 = 70000 = 0.675 hectares

Question 2. A3mwide pathrunsoutside and around arectangular park oflength125m and

breadth 65 m. Find the area of the path.
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Answer: Length of rectangular park = 125 m, breadth of rectangular park = 65 m and width of the
path=3m

Length of rectangular park with path = 125 + 3 + 3 =131 m Breadth of
rectangular park withpath=65+3+3=71m

Area of path = Area of park with path — Area of park without path
= (131 x 71) — (125 x 65)

=9301 - 8125

= 1.176 m?

Thus, area of path around the park is 1,176 m?2.

Question 3. Apictureispaintedonacardboard8cmlongand5cmwide suchthatthereisa margin

of 1.5 cm along each of its sides. Find the total area of the margin.

Please insert the figure of the question.

Answer: Length of painted cardboard = 8 cm and breadth of painted card =5 cm Since,
there is a margin of 1.5 cm long from each of its side.

Therefore reduced length=8 - (1.5+1.5)=8-3=5cm
And reduced breadth=5 - (1.5+15)=5-3=2cm

Area of margin = Area of cardboard (ABCD) — Area of cardboard (EFGH)

= (AB x AD) — (EF x EH)
=(8x5)-(5x2)
=40-10

=30 cm2

Thus, the total area of margin is 30 cm?,




Question 4. A verandah of width 2.25 m is constructed all along outside a room which is 5.5 m long
and 4 m wide. Find:

(i) the area of theverandah.

(if) the cost of cementing the floor of the verandah at the rate of Rs. 200 per m2.

Answer: (i) The length of room = 5.5 m and width of the room =4 m The

length of room with verandah=5.5+2.25+2.25=10m
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The width of room with verandah =4 + 2.25 + 2.25=85m

Area of verandah = Area of room with verandah — Area of room without verandah
= Area of ABCD — Area of EFGH

= (AB x AD) — (EF x EH)

= (10 X 8.5) — (5.5 x 4)

= 85-22=63m?

(i) The cost of cementing 1 m? the floor of verandah = Rs. 200

The cost of cementing 63 m? the floor of verandah = 200 x 63 = Rs. 12,600

Question 5. A path 1 m wide is built along the border and inside a square garden of side 30
m. Find:

(i) the area of thepath.

(i) thecostofplanting grassintheremaining portion ofthegardenattherate of Rs. 40 per m?




Answer: (i) Side of the square garden = 30 m and width of the path along the border =1 m

et

\]

P vy fpreey
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Side of square garden without path=30— (1 + 1) =30 -2 =28 m Now
Area of path = Area of ABCD — Area of EFGH

= (AB X AD) — (EF x EH)

= (30 x 30) — (28 x 28)
=900 - 784 = 116 m?
(i) Area of remaining portion = 28 x 28 = 784 m?2

The cost of planting grass in 1 m?2 of the garden = Rs. 40

The cost of planting grass in 784 m? of the garden = Rs. 40 x 784 = Rs. 31,360

Question 6. Twocrossroads, each of width10m, cutatrightanglesthroughthecentreofa
rectangular park of length 700 mand breadth 300 mand parallel toitssides. Find the areaof the

roads. Alsofindtheareaofthe parkexcludingcrossroads. Givetheanswerinhectares.

Answer: Here, PQ=10mand PS=300m, EH =10 mand EF = 700 m And KL

=10mand KN=10m

Area of roads
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= Area of PQRS + Area of EFGH — Area of KLMN
" [ KLMN is taken twice, which is to be subtracted]
=PSxPQ+EFXEH - KL x KN

= (300 x 10) + (700 x 10) — (10 x 10)
= 3000 + 7000 — 100 = 9,900 m?

; 1
Area of road in hectares, 1 m2 = 70000 hectares

] 2 9900
+9,900m“ = Tpooo = 0.99 hectares

Now, Area of park excluding cross roads = Area of park — Area of road
= (AB x AD) — 9,900

= (700 x 300) — 9,900

=2, 10,000 - 9,900 = 2, 00,100 m?

200100

0000 hectares = 20.01 hectares

Question 7. Througharectangular field of length90 mand breadth 60 m, tworoadsare constructed
whichare paralleltothe sidesand cuteach otheratrightanglesthroughthe centre of the fields. If
the width of each road is 3 m, find:

(i) the area covered by the roads.

(ii) the cost of constructing the roads at the rate of Rs. 110 per m?2.

Answer: (i) Here, PQ=3mandPS=60m,EH=3mand EF=90 mand KL=3mand KN=3m

Area of roads

= Area of PQRS + Area of EFGH — Area of KLMN




‘[ KLMN is taken twice, which is to be subtracted]
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=PSxPQ +EF X EH - KL x KN

= (60X 3) + (90 x 3) — (3% 3)

=180 + 270 — 9 = 441 m?

2

(if) The cost of 1 m“ constructing the roads = Rs. 110

The cost of 441 m2 constructing the roads = Rs. 110 x 441 = Rs. 48,510 Therefore, the cost of
constructing the roads = Rs. 48,510

Question 8. Pragya wrapped a cord around a circular pipe of radius 4 cm (adjoining figure) and cut
off the length required of the cord. Then she wrapped it around a square box of side 4 cm (also
shown). Did she have any cord left? (Take m = 3.14)

Please change the figure of the question.

Answer: Radius of pipe =4 cm

Wrapping cord around circular pipe= 27r
=2x314x4=2512cm

Again, wrapping cord around a square = 4 x side =4 x 4 = 16 cm Remaining




cord = Cord wrapped on pipe — Cord wrapped on square

=25.12-16=9.12cm
Thus, she has left 9.12 cm cord.

Question 9. The adjoining figure represents arectangular lawnwith acircular flowerbedin the

middle. Find:

5m

|
3 e
&— 10m——>

(i) the area of the whole land.

(ii) the area of the flower bed.

(iii) the area of the lawn excluding the area of the flower bed.
(iv) the circumference of the flower bed.

Answer: Length ofrectangularlawn=10m, breadth ofthe rectangularlawn=5m And

radius of the circular flower bed =2 m

(i) Area of the whole land = length x breadth =10 x5 =50 m?2

1l reao ower be :71'7"‘ =o. XZIXZ= . m
(i) Area of flower bed = 772 = 3.14 x 2 x 2 = 12.56 m?

(i) Areaoflawn excludingthe area of the flower bed = Area of lawn — Area of flower bed

=50 — 12.56 = 37.44 m?
(iv) The circumference of the flower bed = 271

=2x3.14x2=12.56 m




Question 10. In the following figures, find the area of the shaded portions:

8 cm
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Answer: (i) Here, AB = 18 cm, BC =10 cm, AF = 6 cm, AE = 10 cm and BE = 8 cm Area of

shaded portion = Area of rectangle ABCD — (Area of AFAE + area of AEBC)

=(ABXxBC)-+ XAEXAF+ xBExBC)
=(18x10)-¢ x10x6+1 x8x10)

=180 — (30 + 40)

=180 — 70 = 110 cm?

(i) Here, SR=SU +UR=10+10=20cm, QR=20cm
PQ=SR=20cm,PT=PS-TS=20-10cm
TS=10cm,SU=10cm,QR=20cmand UR=10cm
Area of shaded region

= Area of square PQRS — Area of AQPT — Area of ATSU—Areaof AUQR

:(SRxQR)—; xPQxPT—% xSszu—; x UQ X QR

:20x20—% x20x10—% x10x10—% X 20 X 10

= 400 — 100 — 50 — 100 = 150 cm?

Question 11. Find the area of the quadrilateral ABCD. Here, AC =22 cm, BM =3 cm, DN =3 cm and
BM L AC,DN L AC.




Answer: Here, AC=22cm,BM =3cm, DN =3cm
Area of quadrilateral ABCD = Area of AABC+Areaof AADC

xACxBI\/I% x AC x DN

x22x3+% X 22 X3

=3x11+3x11
=33+33

= 66 cm?

Thus, the area of quadrilateral ABCD is 66 cm?,
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